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public class HelloWorld {
public static void main(String[] args) {
System.out.println("Hello World!");
}
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public class Examplel {
//one line comment
public static void main(String[] args) {
/*
multi-line comment

*/

int i; //*

int j = 1;

boolean bool = false;
double d = 1.56;

char c = 'a’';
String s = "a";
i = 5; //**

System.out.println("(1): "+ i + " " + s);
System.out.println("(2): " + bool);
System.out.println("(3): " + d);
System.out.println("(4): " + c);
System.out.println("(5): " + c + j);
System.out.println("(6): " + (c + j));
System.out.println("(7): " + (char)(c + j));
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Primitive Types

Type Name Wrapper class Value Range Size Default Value

byte java.lang.Byte integer -128 through +127 8-bit (1-byte) 0

short java.lang.Short integer -32,768 through +32,767 16-bit (2-byte) 0

int java.lang.Integer |integer -2,147 483,648 through +2,147,483,647 | 32-bit (4-byte) 0
-9,223,372,036,854,775,808 through .

e T T T integer 10293 379 036 824775 807 9 6a-bit (8-byte) | 0

float java.lang.Float floating point number +1.401298E-45 through +3.402823E+38 | 32-bit (4-byte) 0.0

+4.94065645841246E-324 through

double java.lang.Double floating point number +1.79769313486232E+308

64-bit (8-byte) | 0.0

boolean |java.lang.Boolean  Boolean true or false 8-bit (1-byte) | false

F- it (BM
char java.lang.Character INFEIEET 20 Ch_arader "\u0000" through '\uFFFF" 16-bit (2-byte) | *\u0000"
or a part of a surrogate pair)

W DNTPIN RO IMPY 177201)
(https://en.wikibooks.org/wiki/Java Programming/Primitive_Types

SRTD DAR , 21V 021907 A¥7 °awa float 1 ,275%W 031907 X7 D°awa int 2 wHANwa? H2pn 1
DRI IR PN DR D12 N3 OV 2w 090190 DR 000
TR 15w 3awa 95 .1 9w 197V May 2°02 4 2% NPIINT PNI0°TA Lint i D 73w 07070 MR WK
TP NPOM° (DDA NIPTR 7217 1 9W 1D7WW 2OYT AR AR ,197 .11N2°12 IR IR 72°N0 YXaN 2w
.byte 1999% X short 019°02 WANWI? V22 1N°1,(0MP? DWW DOVITIVD DA 1O¥N 1,7Wn7)
2797 TIWIAN JANWR S 0IDVT NYOAR YW PN 0
0°7907 2¥ D 2WON IWRA N 221 077 270w Y 222WR Hwnh — DO2W a1 MY X
.09W 9901 777770 0107 TINWAY WRINA TTAT? 17 2nwn 199,00 Ny
1172°72 2P NIND D°09INW 2°01D°0A WRID WHNWI? IWOR IINARY D3 — 11007 NRYPI2 oo .2
.07 ML 1% 17 OR
MW ¥X27 101 2°A%W Y ,5Wn% 1oV ¥XIY 100w MWD DR 2°N07 0°°107 N1 YW 01900 L)
J191,N1PIRDI2 MWD ¥X¥2Y 101 boolean onw 2°010°0 ¥ .N1VANMIR

SUPPIRY DRAPIY 7IWN ﬂ’TIlDP‘? T ,°2°0°1070 D190 1K String e)RehiVsslinmifaRaliiyia)

.79°791 short  int 7 1777 0°X17 12°°7 ,5Wn2 2071w 0°2°0°2°719;77 00190 P2 MINT Y¥2Y 101 OXA
nPaR 77K KD ,11012°12 0°N2 2 09w 09w 1907 NP1 OX .int 7 short MY Y2 DWW PR LNLIRIVINR
NT2W 7 ARWAT,19R) .102°72 2°N2 4 09w 09W 501 AXMY MMRW 710wR TN NIR 2337 7Y oW
P9 77NA

int i = 2400000;
short s = 2;
i=s;
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int i = 2400000;

short s = 12;

s = (short)i; //casting
System.out.println(s);
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public class Example2 {

public static void main(String[] args) {
int numl = 15;
boolean bl = funci(numl);
boolean b2 = func2(numl);
System.out.println("and :" + (bl && b2));
System.out.println("or :" + (bl || b2));
System.out.println("------------------ ")
System.out.println("-- calculating b3: ");
boolean b3 = funci(numl) && func2(numl); //*
System.out.println("-- calculating b4: ");
boolean b4 = funci(numl) || func2(numl); //**
System.out.println("not :" + !b4);

public static boolean funcl(int x) {
System.out.println("funcl");
return x > 10;

public static boolean func2(int x) {
System.out.println("func2");
return x % 2 == 0; //% is modulo, same as in Python

}
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public class Example3 {
public static void main(String[] args) {

int numl = 15;

int num2 = numl++;
System.out.println("numl is " + numl);
System.out.println("num2 is " + num2);
int num3 = 12;

int num4 = ++num3;
System.out.println("num3 is " + num3);
System.out.println("num4 is " + num4);
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